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HDCPLPE : B4 : 36 &2/% : 36 =7 : 36 B % 74 AN HDCPLBE : B4 :36 &2/% : 36 =7 : 36 B % 74 AN

B%u?—J)tI: EAUR;( 2®®@©®® %:)L_&L : zgi B%u?—J)tI: EAUR;( 2®®@©®® %:)L_&L : Zgi
IN OOB@B® it : 98 A IN OOB@B® it : 98 A

[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

855 A 54 37 36 73 2.4 70.6 26 A7 18 41 39 80 6.0 74.0

2 JEAN #E2 45 48 93 21.6 71.4 27 SN B 40 40 80 6.0 74.0

3 LA gk 46 40 86 14.4 71.6 28 155 1RE 43 36 79 4.8 74.2

4 BAES = 48 43 91 19.2 71.8 29 E[F B 50 41 91 16.8 74.2

5 oK 8% 47 43 90 18.0 72.0 30 5H &F 47 50 97 22.8 74.2

6 i —& 40 38 78 6.0 72.0 31 FEH =5 40 39 79 4.8 74.2

7 bk 855 42 40 82 9.6 72.4 32 iE 1B— 44 40 84 9.6 74.4

8 FKH &L 41 40 81 8.4 72.6 33 H I R 45 45 90 15.6 74.4

9 iER IE1T 49 43 92 19.2 72.8 34 £ EA 42 42 84 9.6 74.4

10 CE & 40 46 86 13.2 72.8 35 XF =7 48 41 89 14.4 74.6

11 SO Hff 48 43 91 18.0 73.0 36 ;ttH ZE A 55 52 107 32.4 74.6

12 )1l 62 46 45 91 18.0 73.0 37 hhgE [E— 46 43 89 14.4 74.6

13 A4 £ 1IF— 48 49 97 24.0 73.0 38 #x =17 41 40 81 6.0 75.0

14 B F0E1 37 36 73 0.0 73.0 39 HES ERIE 50 48 98 22.8 75.2

15 FKH iz 41 43 84 10.8 73.2 40 FEAK Jftos 49 43 92 16.8 75.2

16 . & Fl< 46 44 90 16.8 73.2 41 AN 24 50 47 97 21.6 75.4

17 ;X dhjE 45 50 95 21.6 73.4 42 B BEAkE 39 46 85 9.6 75.4

18 {REE <F 44 44 88 14.4 73.6 43 B} ZREF 48 42 90 14.4 75.6

19 fE S 46 42 88 14.4 73.6 44 EH Mz 51 50 101 25.2 75.8

20 | L[ =A% 55 45 100 26.4 73.6 45 HEF ags 47 48 95 19.2 75.8

21 BEEH — 51 49 100 26.4 73.6 46 EED 155 46 43 89 13.2 75.8

22 EFEP f2— 44 44 88 14.4 73.6 47 = BE 47 48 95 19.2 75.8

23 =& B4 41 46 87 13.2 73.8 48 EH 2 50 49 99 22.8 76.2

24 FF ik 41 40 81 7.2 73.8 49 /\E¥y H= 43 49 92 15.6 76.4

25 5F ¥F=— 44 43 87 13.2 73.8 50 HEY 16— 53 45 98 21.6 76.4
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B%u?—J)tI: EAUR;( 2®®@©®® %:)L_&L : zgi B%u?—J)tI: EAUR;( 2®®@©®® %:)L_&L : Zgi
IN OOB@B® it : 98 A IN OOB@B® it : 98 A

[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

51 E5 F17 44 41 85 8.4 76.6 76 kb —3= 56 60 116 36.0 80.0

52 Eyf] Bk 55 54 109 32.4 76.6 77 FEKZ 46 46 92 12.0 80.0

53 JraH T 46 44 90 13.2 76.8 78 iz EAL 41 50 91 10.8 80.2

54 /|\E¥ F£TF 55 53 108 31.2 76.8 79 HE Rl 47 47 94 13.2 80.8

55 i RT 46 44 90 13.2 76.8 80 #HEy TR3E 50 49 99 18.0 81.0

56 1M 5T 47 42 89 12.0 77.0 81 f&@[ )= 49 49 98 16.8 81.2

57 )l &F& 54 47 101 24.0 77.0 82 HlE &R 47 56 103 21.6 81.4

58 K B53E 42 45 87 9.6 77.4 83 &K 1Afc 52 50 102 20.4 81.6

59 & JETF 50 43 93 15.6 77.4 84 ¥l ==F 55 58 113 31.2 81.8

60 [FH & 54 55 109 31.2 77.8 85 SH 8 57 55 112 30.0 82.0

61 £ X 43 47 90 12.0 78.0 86 BFHP =T 53 52 105 22.8 82.2

62 5K [E— 45 45 90 12.0 78.0 87 [E% 1EX 50 48 98 15.6 82.4

63 Lk &2 52 50 102 24.0 78.0 88 LTH A= 63 53 116 33.6 82.4

64 B BA 48 54 102 24.0 78.0 89 HHE & 46 49 95 12.0 83.0

65 /|\ih & 46 43 89 10.8 78.2 90 Al =4I 53 54 107 22.8 84.2

66 ¥ =i 54 46 100 21.6 78.4 91 ¥y R¥ 57 59 116 31.2 84.8

67 Eif) X 57 49 106 27.6 78.4 92 A& R 61 60 121 36.0 85.0

68 Ml AR5 51 48 99 20.4 78.6 93 #nA KA 66 54 120 34.8 85.2

69 P FHE 42 50 92 13.2 78.8 94 3R {HT 72 59 131 36.0 95.0

70 #2UE 5K 51 53 104 25.2 78.8 95 B ¥R 66 74 140 36.0 104.0

71 R=E A7 47 51 98 19.2 78.8 96 fHrh JiE 72 84 156 36.0 120.0

72 HEY i5 53 51 104 25.2 78.8 97 EE & 79 79 158 36.0 122.0

73 HIR BT 46 45 91 12.0 79.0 98 ElfFf Jn3e 79 88 167 36.0 131.0

74 =8 5T 49 46 95 15.6 79.4

75 5% 1HE 57 53 110 30.0 80.0




